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19. Using matrix method, solve the system of equations

Ix+2y-2z2=3,x+2y+32=6,2x-y+z=2.
Sol. Given system of equations is: | ’

3x+2y-2z=3
x+2y+3z2=6
and &x-y+z=2
or AX=B
3 2 21{l=x 3
ie. 1 2 3||ly|=]6
2 -1 1]lz] [2]
& X=A'B
ForA™',
Cofactors are

Cofactors are
A =5,41=5,43=-5,
Ay =0,4,,=7,4,5=1,
Ay, = 10,43, =11 and 43; =4

T

¥ & 8 5 0 10
adjA=[0 7 7|=l5 7 -1
10 -11 4 -5 7 4
lA| = 3(5) +2(5) + (-2) (-5) =35
- 5 0 10
A Ly 4
351 5 4 4
NowX=4"B
x 5 0 1073 15+ 20 351 1
- 3 =§1§ s 7 116 =3—'5 15+42-22 |=—|35|=|1
z -5 7 4 |2 -15+42+8 35 1

x=1l,y=landz=1
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18. If4=|-2 -1 -2/ find4™".
0 -1 1
Using A", solve the system of linear equations x — 2y = 10, 2x—y —z=8, -2y
+z=17.
1 2 0
Sol. Wehave,4=|-2 -1 -2 (i)
0 -1 1

Cofactors are:
Al|=—3,A12=2,A13=2,
Ay =-2,45=1,45=1,
Ay =—4,A43,=2,43;=3
32 3 [ -2 4
adid=|-2 1 1| =2 1 2
-4 2 3 2 l 3
[Al=1(=3)-2(-2)+0=1

w224
A":l—jﬂ= 1 4
2 1 3
Now the system of linear equations is
x-2y=10,
2x—-y-z=8
and 2y+2z=7
or AX=B
1 =2 0x| (10
ic., 2 -1 -1fly|=|8

0 -2 1|lz| |7

, 1 -2 0 x 10
where, A=[2 -1 -1|,X=|y|landB+| 8
0 -2 1 Z 7
X=4'8
-3 2 2][10] [-30+16+14] [0
= yl=|l-2 1 1|/ 8]|=| -20+8+7 |=|-5

4 2 3|7 |~40+16+21| |-3
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2 2 4 {1 =1 0
20. GivenA=|-4 2 —4|andB=|2 3 4|, then find B4 and use thisto
2 -1 5 0 1 2
solve the system of equations y +2z=7,x -y =3, 2x + 3y +4z=17.
2 2 4] 1 -1 0
Sol. Wehave, 4=|—4 2 —4|and B=|2 3 4
- 2 ~1 5| 01 2
-1 0][2 2 4] [6 0 0
BA=|2 3 -4 2 4|=|0 6 0|=6/
01 22 -1 5 0 06
2 2 -4
-4 2 -4 ; (i)
2 -1 5

Given 'systcm of equations is:
x-y=3,2x+3y+4z=17andy+2z=7

N RO

B'= L

o

1 -1 0l[x][3
or 12 3 4||y|=|17
0 1 2)[z] |7
[x] 1 -1 0]'[3 1’2 2 413
(z] [0 1 2] [7 (2 -1 5]|7
i ]'6+34—2s' 112 2
s ~12+34-28 s -6|={-1
[ 6-17435 24 4

x=2,y=-landz=4



